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In the light of the above statements, choose the most approp

the options given below 4
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(A) Both Statement 1 and Statement 11 are corﬂct ,

(B) Both Statement | and Statemeﬁ?ttln mincorrect

(C) Statement I is correct a.nd Statement II is incorrect

(D Statement I 13 mcorreut and Statement II is correct
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2. i
Given below are two statements
Statement | © The withdrawal of USA from Paris Agreement in 2025 will

strengthen global climate action momentum

Statement 11 : India has indicated a shift in its climate change approach by

focussing less on adaptation rather than mitigation.
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
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3. Giwven below are (wo statements
Statement 1 : Magnetite 15 a natural magnet.
Statement Il : A freely suspended magnet always aligns in N-5 direction.

In the hight of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
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Given below are two statements :

Statement I : The mass of an object is a measure of its inertia.
Statement II : Force of friction always opposes motion of objects.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
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b ?
Tianwen-1 Mars mission pertains to which of the following country :

(4) Japan (B) South Korea

(C) China vl ;
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6. - Given below are two statements :

!

Statement I : Tropical humid climat,es' emst betwgen 'I“rogic of Cancer and
Tropic of Capricorn.

Statement II : Mediterranean type of climate occursi around Mediterranean
Sea.

In the light of the above statements; choose the most ap.prdpriate answer from
- the options given below :

(A) Both Statement I and Statement IT are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
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7. Given below are two statements :
Statement I : The meanest and most onerous kind of forced labour was to
carry loads known as ‘Pund Begar’.
Statement II : The Begar forms in Chamba State were five in number called
‘Panj Haqq' |
In the light of the above statements, choose the most appropriate answer from
the options given below : '
(A) Both Statement I and Statement IT are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
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8. Given below are two statements

Statement I : The Gujjars of Himachal Pradesh are both Hindus and
Muslims,
Statement II : Lahaulis and Spitians have Mongoldid featurgs. S

In the light of the above statements, choose the most a‘ppro‘p‘l'if:.ltSa HDEwEL from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement IT are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

Fa ke ™ D wm § .
FT I : femree Ww & TR g ok qwemm o #)
FgT I TR ok vl @ wnietas wegw 9 ¥

mwﬁﬁmmmﬁﬁﬁﬁﬁmﬁﬁﬂmeﬁammw
Hifea

(A) F97 I 3R Hu7 II 3F & §
(B) ¥4 I 3R Fe= II O 7o §
(C) ®u I G € R =u3 II To@ &

M) F97 I Tod € 3R w9 I 9 ®

TBC : ECP/25/B/I—B 8



9. Given below are two s?:atements '
Statement I : Rohtang Pass lies in Dhauladhar ranges.
Statement II : Kunzum Pass is famous as Valley of Shadows.
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorreét
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
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. fols ive structure of
10. Consider the following statements regarding the administratt

Kullu tehsil at the end of the 19th Century : -

Statement I : Tehsils were divided into waziris, apd waztrls o phatis
Statement II : Each phati was further divided into hothis.

Choose the correct option :

(A) Both statements are correct

(B) Only statement I is correct

(C) Only statement II is correct

(D) Both statements are incorrect
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11. Arrange the following states with share of women-led M8MEs during 2024 from
highest to lowest :

(1) Tamil Nadu (2) West Bengal

(38) Telangana (4) Karnataka
Choose the correct answer from the options given below .
(A) (1), (2), (3), (4) (B) (2), (1), (3), (4)
©) @), 3), (2), (1) D) (2), (4), (1), 3)

frfefen Tt ® o 2004 § wieemel & g T@ WL B @Il @
YR W Ioaaq Q Freem w0 & &

(1) dfiemrg - (2) ufyem ammer

(3) AT (4) HAleH

9 fRu Ty faredl & @ W SR H gEE HINE ;o

Ay (1), (2), (3), (4) B) (2), (1), (3), 4)
(C) ), (3), (2), (1) D) (2), 4), (1), (3)

12. Arrange the following schemes of Government of India from newest to oldest :
(1) Pradhan Mantri Sahaj Bijli Har Ghar Yojana
(2) Mangrove Initiative for Shoreline Habitats and Tangible Incomes
(3) Atal Bhujal Yojana
(4) Stand-up India Yojana
Choose the correct answer from the options given below :
(A) (D), (2), (3), 4) (B) (2), (3), (1); (4)
C) @), (3), (2), (1) D) (2), (4), (1),(3)
YNGR i Fefefed demel w Tees @ qUaT 9 8 safed S
(1) wuA weit wew faswel & SR A |
(2) @ AN R g o & faw e wew
(3) A oA A
(4) V-3 sfea A
R few U fawedi § @ W& IW H A FIE

(A) (1), (2), (3), (4) B) (2), 3), (1), 4)
(C) (4), 3), (2), (1) D) (@), @), (D), 3)
TBC : ECP/25/B/I—B 11

P.T.O.
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13.

14.

~onologi
Arrange these events related to Modern Indian History' in chronological
order :

(1) Ganpati Festival started by Tilak

(2) Appointment of a Police Commission Chaired by And“w F el
(3) Shivaji Mahotsav started by Tilak hpexams.in ‘ '

(4) Appointment of Hunter Equcation Commission

Choose the correct answer from the options given below :

A 1), @), 3), 2) (B) (4), (1), (3), (2)

(©) (D), (3), (2), 4) @ @), D), (@), @

FyfF W shiew ¥ Wi o gemel @ FAMER Efdd B
Q) T g Tt Sw W@ oyeem

(2) Tgg BN # eAg@ § g s w6
@) foow gr fmsh waewm it yeom

@) TR fown smm = frgfm A

T Rw T el # ¥ W@ sw W g R

A) (1), (1), 3), (2) B) @), (1), 3); @)

(©) (1), (3), (2), (4) . M) @), (1), (2); (8)
Arrange these Governor General/Viceroy of British India in ¢hronological order.
(1) Lord Auckland (2) Lord Ellenberough

(3) Lord Lansdowne (4) Lord Elgin-I -

Choose the correct answer from the options given below :

(A) (1), (2), 4), (8) B) (1), (2), (3), @)

(C) 4, (1), (2), (3) D) @), (2), (1), (3)

fafen sfean & 3 TR IRA/TTRE H FAFER FEkad FR .
(1) <irE 3mehaive (2) < TEe

(3) «re AHer=A (4) <€ Tfem-I

4R feg wu fawedi @ @ WE SW w1 YA Hifwd

A) (1), (2), (4), 3) (B) (1), (2), (3), (4)

(©) @), (1), (), (3) (D) (4), (2), (1), (3)

TBC : ECP/25/B/I—B 12



\ 15.

16.

Arrange the following uplands of peninsular India from South to North .

(1) Palghat (2) Javadi Hills

(3) Bhorghat (4) Rajmahal Hills

Choose the correct answer from the options given below :

(A) (1), (2), 3), (4) (B) (2), (3), (4), (1)

© 3), @), 2), (1) D) (4), (3), (2), (1)

TR wRa # frefefan Syl ® cfyon @ S S $R Efem FiR
1) R 2 <t w wefeEr

(3) ¥R 4) TSRS Wt wEIrEEl

I Qg o fowedi § @ | SW 1 e SN

A (D), (2), 3), @) (B) (2), 3), @), (1)

©) 3), @), (2), (1) : D) @), (3), (2), (1)

Arrange the following tiger reserves of India from North to South :
(1) Corbett (2) Valmiki

(3) Indrawati (4) Bhadra

Choose the correct answer from the options given below :

(A) (2), (4), (1), (3) (B) (1), (2), (3), (4)

©) (D), 3), (2), 4 D) (1), 4), (2), (3)

gRa & Frafafen s svredl & W A Sfau Ken | =afem s
(1) aﬁz‘ (2) arcHifH

(3) sTal 4) W=

2 ey T fawedl # ¥ W& SW 1 TIE HIA

(A) (2), 4), (1), (3) (B) @), (2), (3), 4)

(C) (1), (3), (2), 4 D) @), @, (2), (3)

TBC : ECP/25/B/I—B 13 PTO.



their happenings :
17. Arrange the following freedom movement events in: oxder o /

(1) INA Trial |
(2) Quit India Movement

(3) Civil Disobedience Movement

(4) Non-Cooperation Movement

e e v f-""; 4k
Choose the correct answer from the options given below :
(A4) (1), (), (3), @)

B) (2), (3), (4), @) f
(C) (3), (4), (1), (2)

@) @), 3), @), () o
(1) o g B e

(2) ¥Rd D AR

3) ufeTa s i ¢

(4) SR AR ¢
ﬁ%ﬁqwﬁwﬁiﬁﬁﬂﬁwmmaﬁm:

A) (1), (2), (3), 4)

(B) (2), (3), (4), (1)

©) 3), @), (1), (2

D) 4), (3), (2), (1)

TBC : ECP/25/B/I—B L
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\ 18. Arrange the following by the year they became operational in India’s financial
| sector :
(1) Real-Time Gross Settlement (RTGS)
(2) National Electronic Funds Transfer (NEFT)
(3) Unified Payments Interface (UPI)
(4) Account Aggregator Framework
Choose the correct answer from the options given below :
(A) (1), (@), (3), (4)
B) (2), (1), 4), (3)
C) 4), (2), (3), (1)
D) (3), (2), (1), @)
frafafen #t wia & fowdh
HfSA
(1) fow-eEm We deade (RTGS)
@) W el B FER (NEFT)
(3) gfFEe Yew TewH (UPD
(4) FHRZ TR HATSH
2 R T fared § A W@ SW H GO BN
A) (1), (2), (3), (4)
(B) (2), (1), (4), 3)
©) @), (2), 3), (1)

D) (3), (2), (1), (4)
TBC : ECP/25/B/I—B 15 PTO.
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19. Arrange the following monetary policy tools by the order in which RBI typically /

uses them to control inflation :

(1) Open Market Operations (OMO)

(2) Repo Rate Hike ’
(3) Cash Reserve Ratio (CRR) Adjustment, |
(4) Statutory Liquidity Ratio (SLR) Adjustment

Choose the correct answer from the options given below :

I
(A) (D), (2), (8), (4) (B) (2), (1), (4), (3)

(C) (1), (2), (3), (1) D) 3), (2), (1), (4)

RBI 3R W
TSehifd o et s & fag s7& swEm @ .

(1) Eell R 9f@EeE (OMO)

(2) W X H Ifg

(3) g INRf&d 3gud (CRR) THRESH

(4) 3y e 7Y@ (SLR) S9RENH

F= feu Tu fawedi § @ WE SW w1 YA Fid .

(A) (1), (2), (3), (4) (B) (2), (1), 4), (3)

(C) (4), (2), (3), (1) D) 3), (2), (1), 4)

TBC : ECP/25/B/1—B 16



20. Arrange the following items in descending order as percentage of GDP in
India : |
(1) Gross Fiscal Deficit
(2) Gross Domestic Capital Formation
(3) Central Government Debt
(4) Gross Tax Revenue
Choose the correct answer from the options given below :

A) 3), (2), 4), (1) (B) (2), (3), 4), (1)

(C) (3), (2), (1), 4) D) (2), (3), (1), (4)

frefefen 7 # Y@ ® GDP ® YhRW # ¢ § Wy w9 § =i #ifd
(1) THa TSERIEE e

(2) wha e Yot Fmiw

(3) % TR H R

(4) HHA H MM

frafafed faeedl § 4 @& SW &1 9971 HIf

(A) (3), (2), 4), (1) (B) (2), (3), (4), (1)

(C) (3),(2), (1), 4) D) (2), 3), (1), 4)

TBC : ECP/25/B/1—B 17 P.T.O.



21. Arrange the following states in descending order' as per Worker Population
Ratio (WPR) of all ages according to PLFS 9023-24 report :
(1) Punjab
(2) Himachal Pradesh
(3) Haryana
(4) Uttarakhand
Choose the correct answer from the options given below :

A ), 3), (2), @4
B) (2), 4), (1), 3)
© 3), (2), (1), @)
D) (@), @), (1), (@) ,
PLFS 2023-24 ftié & sigar fFreafafen wodi & o7 sifts Seiem oo &
YR W T4 HH § gafegd wifvd . |
(1) Y=
(2) feurad wew
(3) famn
(4) SWUEE
frafafea fowedi # & W@ W 1 997 #ifwy
(A) (D, 3), (2), 1)
(B) (2), 4), (1, 3)
© @), @, D, @
D) (@), 3), (1), 4)
TBC : ECP/25/B/I—B 18



22. Arrange the following ecological hotspots of the World from West to East :
(1) Tropical Andes
(2) Upper Guinean Forests
(3) Eastern Medagaskar
(4) Melanesia (New Caledonia)
Choose the correct answer from the options given below :
(A) (1), (2), (3), 4) (B) (2), (3), (4), (1)
(©) (3), (4), (1), (2 D) (), (3), (2), (1)
fovq 3 Frefafea TRfafie ee-wafe %t wem @ 79 % %0 d afed
A :
(1) IourRfeatia s
(2) 94 i =
(3) & ASTIER
(4) AAfAferEn (| S
9 feu T fawedl § A WH SW F GAE Hifd

(A) (1), (2), (3), (4) (B) (2), (3), (4), (1)
(C) (3), 4), (1), (2) D) @), 3),(2), (1)
23. Arrange the following National Parks of India from West to East :
(1) Kanha (2) Vansada
(3) Kaziranga (4) Bhittarkanika
Choose the correct answer from the options given below :
(A) (2), (1), (3), (4) (B) (1), (3), (2), (4)
(C) (2), (1), (4), (3) D) (3), (2), (1), (1)
gyra @ Frefafed TS w1 ufvem @ @ R # e wifsd
(1) 1= (2) e
(3) TSI (4) ARt
Fa fau MU famedi § ¥ W@ SW H A Hifed
(A) (2), (1), (3), (4) (B) (1), (3), (2), 4)
(C) (2), (1), (4), (3) (D) (3), (2), (4), (1)

TBC : ECP/25/B/I—B 19 P.T.O.



alue :
their pH Vi
24. Arrange the following substances in increasing order of

(1) Gastric Juice (2 Milk of Magnesia

(3) Lemon Juice (4) Pure Water

Choose the correct answer from the options given below :

Q) (1), (2), (3), (1) B) @), (3),(2), (D

© @), @), (), @ D) (1), (3), 4),2)

Frfefen vl =t 578 pH 7 & st w gy W § e SR
1) S| ™

o

) faow sife F=HAT

@) g = W™ @ & V-

Y R T el § A W@ IR W g R

3

A) 1), 2), 3), (@) ®) @), (3), (@), (D)

©) (3), @), (1), (2) D) (1), (3), (@), (2)

25. Which position India got in the Global Innovation Index. 2024 ?
(A) 35th (B) 39th
(C) 55th (D) 25th

@aﬂsﬁmé@mzomﬁwﬁmwamw ?

(A) 3591 (B) 398l

(C) s5af (D) 254t

TBC : ECP/25/B/I—B 20



26. Arrange the following tectonic plates of world from North to South :

(1) Scotia plate (2) Cocos plate

(3) Nazca plate (4) Juan De Fuca plate
Choose the correct answer from the options given below :

(A) (1), (3), (2), 4) (B) (4), (3), (2), (1)

(C) (4), (2), (1), (3) D) ), (2), (3), (1)

fava #t frafefen @& = s ¥ Sy R § srafem FG3
(1) = <R (2) HHE R

(3) ST W 4) “oF S wEH R
ﬁmmiﬁmﬁﬁﬁﬂﬁwmﬁqﬁaﬁﬁﬁ:

A (), (3), @), @ B) @), 3), @), D /
© @), 2), (1), 3) D) @), @), 3), (V)

27. Arrange these foreign travellers who visited Himachal Pradesh in chronological / :
order : / 1
(1) Captain Munde (2) Baron Hugel /
(3) J.B. Fraser (4) Alexander Gerard
Choose the correct answer from the options given below :

@A) @), (), @), @). B @, @), (1), @
©) (3), (1), (1), (2) ‘ M 3), (1), (2), 4)

fearael ¥ § yHu F1 9 71 fade At | wueR et Fid
(1) deA g 2 §E g™

(3) A& WR (4) SRS SE

¥ e T fowedl # A WEH SW F gAE HGE

(A) (2), (1), (3), 4 B) @, 3), D), (2

(C) 3), 4), (1), (2) D) @A), (D, (2), 4)

TBC : ECP/25/B/I—B 21 P.T.O.



28. Consider the following statements :

V 14, 1958 when
(1) The first step in rural electrification was taken on January 14,

lights were switched on at Sundernagar.

(2) At the time of electrification of Sundernigal‘ in Mandi district. lts 1populatlon
Was nearly 12,000 when its 20 nearby villages in fertile Balb Valley were
given electrification. -

The electrification programme in the state was divided into two parts .(")
Local power generation was proposed in high valleys remotg from e slistrict
headquarters (i) The lower belts of the state near lelab were to get
electricity from the Nangal and Uhl river feeder.

The Shanan powerhouse is currently under the conftml of Punjab State

Electricity Board and whole of the revenue goes ‘to '-z{’@b Government.
Select the correct answer given below :

(A) Only (1) and (3) are correct (B) Only (3) and’ (4)‘ are correct

(C) Only (1) and (2) are correct (D) Onlyv.(éi)_. and (2) are correct
= wait W foam SR '

(1) it foRpdtee R vgen wem SEEd 14, 1958
T o e
(2) GROTR & fagdiator & woa ot see 12,000 % e 6t o T IS
TeE Wl (Aot fet) @ @vm 20 Titet @ fosweht @ ww e femar s e
3) wﬁﬁgﬁw*mﬁﬁnaﬁawﬁﬁﬁmﬁaﬁmwmmﬁmm
ﬂqﬁaﬁwwmﬁmﬁwﬁwmaﬁawmwuww-ﬁﬁq

m@mﬁmaﬁmmmm%m(w)am
faer ot

4) wﬁwﬁmﬁraﬁmﬁmwﬁgﬂﬁlﬁ%ﬁﬂmﬂ%mmm
USd HR Hl Il B

i weEl @ @t SW g

(A) ad (1) 3R (3) IF ¥ (B) #3@ (3) ol (4) drw
(C) Fa@ (1) ¥R (2) 9% § D) P (4) R (2) d §

TBC : ECP/25/B/1—B 22
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29. Match the representative of princely hill states who participated as ﬂhen"
representative of population for the constitution of Himachal Pradesh into a

single state :

List I List II
(Representative Name) (Name of the Princely State)
(@) Surat Ram Prakash () Jubbal
(b) Hira Singh Pal (i) Bhajji
(c) Bhaskara Nand (iii) Baghat 3;’;',.?‘
(d) Salig Ram Tejta (i) Theog V4
Choose the correct answer : (f’v

@ B ©© @
A @) GiE) @) @)
B) (v) @) @) @)
(C) Gv) Gi) @) @)
M) Gi) @) @ O 'f
mmﬁmwmmﬁmﬁmﬁmmﬁ
w R # w9 F e A o At w yfaffe fw oo ff

gt 1 gt 11 |
(afatfer @ ) Rargat & ™)
(@ T@ T FHW @) /
®) @ fie T Gi) Wt
() W& < (tir) <=
d) wfem ™ A Gv) fedm
g8l W ﬁﬁa :

@ & ©© @@
(A) @) @) (v @)
(B) Guv) @) @) @)
(C) Gv) Guw) @ @
M) @) @) ) @)
TBC : ECP/25/B/I—B 23 PTO.



?
30. What is the audible range of sound for the average human ear ?

(A) 20 H; to 20 kHz
(C) 20 XHz to 50 kHz

(B) 0 Hz to 20 Hz

(D) 50 kHz to 1 MHz
T 939 & s D o semm wom g 2

(A) 20 Hz ¥ 20 kHz
(C) 20 kHz X 50 kHz

(B) 0 Hz ¥ 20 Hz

(D) 50 kHz & 1 MHz

31. Consider the following statements :

(1) India has a total of 89 Ramsar sites on February 2, 2025.
(2)
3)

(4)

Udhwa lake is the first Ramsar site of Jharkhand.
Khecheopalri Ramsar site is in Tamil Nadu.

World Wetland Day 2025 was organised and celebrated at Sundarbans in
West Bengal.

Choose the correct answer from the options given below :

(A) (2) and (3) only (B) (1) and (4) only

(C) (3) and (4) only
Frefafed wodi W faear it .

D) (1) and (2) only

(1) 2 Wad, 2025 1 9RG § 89 TUTER WSl o)

(2) ST HE ARE@E H YUH THE A §)

(3) TEURH IHW WA qfferrg d fem ¥

(4) WW%WﬁﬁwwEﬁ?ﬁaﬁzozsmmme
4= fTu U fasedi H | WE W H g wiE

(A) Had (2) R (3) (B) @Haw (1) 3R (4)

(C) HFd (3) 3T (4) (D) Fa (1) 3R (2)
TBC : ECP/25/B/I—B &4



32. Consider the following statements :
(1) 38th National Games held in Patna,
(2) 39th National Games will be held in Meghalaya.
(3) The mascot for the 38th National Games was Mauli, inspired by the
Himalayan Monal.
(4) Haryana was the top performer in 38th National Games.
Choose the correct answer from the options given below :
(A) (2) and (3) only (B) (1) and (2) only
(C) (2) and (4) only (D) (1) and (3) only
Fretffen wedi W foem #R
(1) 389 USHT Q@F o1 § o g T
(2) 399 TS @« Furerm & smAfm fr wm
(3) 383 UK Well & fow yas ASeh @, S e 9Aa ¥ ARA @1
(4) TREOT 389 U Vel § wew afe § Wi | o
ﬁmmﬁmﬁﬂuﬂwmwm:
(A) #Fa@ (2) 3R (3) (B) #a (1) 3K (2)
(€) F9a (2) 3R (4) (D) %9 (1) R (3)

TBC : ECP/25/B/I—B 25 PTO.



33. Consider the following statements : 4 ‘was the only ruler
(1) Mir Mahboob Ali Khan, the 6th Nizam of Hyderaba .
of India to be given the title “His Exalted Highness .

t passed the Indian
On the basis of Mountbatten plan, the British Mament P
Independence Act’ 1947 on 28 July 1947,

(2)

, F in his eyes
(3) The Raja of Dhaulpur Riyasat told Mountbatten with tears y

an : ancesto
‘that this has broken the old relationship of our m_mam;'s Vand the TS

of your Emperor which was going on since 1765"."
(4) The Cripps proposal was a failed attempt to treat, a child who was not

even born : — Pattabhi Sitaramiya.

Choose the correct answer from the options given below :
(A) (1) and (2) only

(C) (2) and (3) only

Frafafas el w faar @RS .

1) TR weqE oot =™, dewer @ 53 fomw, fegwm @ wwaE o
oS TR’ 1 faae fien o)

HSHZNSA ASHI B MUR YT iz TES Y 28

sfaf=m 1947 wf@ fmamy

(3) R fama & wen ¥ sitai § o

(D) (1) and (4) only

(2)

65 ¥ 9o
M W@ o4an’
4) mmwaﬁﬁﬁﬁﬁmmmmmﬁ,%aﬁ?“m_
geTiir Hard=r )

ﬁéﬁqmﬁw@’iﬁﬁuﬁwmwaﬁm:
(A) Had (1) 3R (2) (B) aﬁaa(maﬂ.{“)

(C) &ad (2) 3 (3) (D) Fad (1) R (4q)
TBC : ECP/25/B/I—B 26



34. Consider the following statements :
(1) No Viceroy in modern times has been subjected to a fiercer criticism than

Lytton — P.E. Roberts.
(2) In the year 1907, D.K. Karve founded Indian Women’s University in

Mumbai.

(3) The South Indian Liberal Federation later came to be known as the Justice
Party.

(4) Vipin Chandra Pal founded the ‘United Indian Patriotic Association’.

Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (2)'and (3) only

(C) (3) and (4) only (D) (1) and (4) only

frefafad Fg9 | faar Fia .

(1) snyfe Fra 8§ foat wSt sl foeT &1 g€ §, Sat fFdt oy T it
o € - wi vl

(2) o9 1907 § €& Hd T TR H 9IRAE S favafaemem 1 e #9h

(3) T YRHE FRAKT F9 H & FARK § TG TA HE WA W Aq|

(4) fafteg o 3 ‘gases sfeam fgdifes waifqwem’ &} wow &t o

2 fou T faFedl d§ ¥ 9@ SW N TE RS

(A) @aa (1) 3R (3) (B) % (2) 3R (3)

(C) Fad (3) 3R (4) (D) wae (1) 3R (4)

TBC : ECP/25/B/I—B 27 P.T.O.



s passed ?
3. In which year “The Co-operative Credit Societies Act’ Was pas
(A) 1901

(B) 1903
(©) 1904 (D) 1007
R e w9 W b R R a7
(A) 1901 (B) 1903
(C) 1904 (D) 1907

36. Consider the following statements :

(1) Accelerated Irrigation Benefits Programme was launched in 1996-97.
(2) Command Area Development Programme was ‘taken"nP in 2014-15

) Hydrology Project was launched by Government of India with the World
Bank assistance in 1974-75

(4) Pradhan Mantri Krishi Sinchayee Yojana was launched druing 2015-16.
Choose the correct answer from the options given below :

(A) (1) and (4) only (B) (2) and (4) only

(C) (3) and (4) only D) (1) and (2) only

frfafeas #ait w fer ity .
(1) aﬁaﬁaﬁwwmﬁmw%-wﬁmaﬁmﬂwm

(2) ®uvs & fawm w™wT 2014-15 § yRy ERIC T

(3) mmﬁwmqsﬁﬁwﬁmaﬁwﬁmﬁmqﬁmmqﬁqﬂ
4) umﬁ%ﬁaﬁﬂmwgﬁnaﬁzms—mﬁmw,
A QU T fodkedi § ¥ W@ W W TR FRE

(A) Fad (1) 3R (4) (B) ®ad (2) 3k (4

(C) #a@ (3) 3R (4) D) Haa (1) ¥k (g)
TBC : ECP/25/B/I—B 28



37. Consider the following statements :

(1) The cool dry season lasts from mid-September to mid-December in India.

(2) The cyclones in October form over the Bay of Bengal between & and 14° N.

(8) The Coromandel coastal region receives more than 80 percent of its rainfall
during summer season.

(4) October and November months represent a primary rainy season in Kerala.

Choose the correct answer from the options given below :

(A) (3 and (4) only (B) (2) and (4) only

(C) (1) and (2) only (D) (1) and (3) only

frafafen wot | fosr S

(1) 31 o 99 9§ 7e-fagaeR @ ne-fegwer 9% @@ g

(2) M T WG H FW FEGE § T 9} ThaW 8§ 14° W F HA dhigd
B T

3) ®RWew ady & A & dwm & RE S aof w1 90 whivw ¥ sferw wra

F@ T
(4) IR 3R ForaR WEN dw § wafhw a6 wg w1 wiafifie w@ §)
e ffu T fawedi # @ W@ W w1 T I
(A) Faa (3) 3R (4) (B) #Fd (2) iR (4)

(C) &ad (1) 3ir (2) (D) e (1) v (3)
TBC : ECP/25/B/I—B 29 P.T.O



38. Consider the following statements :
(1) Constitutional Draft Committee had seven members.
(2) B.R. Ambedkar was Chairman of Drafts Committee.
(3) Jawaharlal Nehru was one of the member of that committee.
(4) Mohammad Saadulla was not member of that committee.
Choose the correct answer from the opti"ons" given below :
(A) (1) and (3) only (B) (2) and (4) only L ‘,
(C) (4) and (3) only (D) (1) and (2) only | |
freafafas wahi w foar Fid . ‘
(1) Hfaum #1 w6 gfafa & 9@ @5w )
(2) SR FAdSH TR Wifa & seay A
(3) AR e Wiufa & wewi H d T 9|
(4) TrewR WRen 39 wfafd & weE @
3 feu U fowed # 4 WEH SW F gAE@ FIGS .
(A) Haa (1) R (3) (B) ®ad (2) 3R (4)

() F@ (4) M (3) (D) FF (1) ¥R (2)

TBC : ECP/25/B/1—B 30



39. Consider the following statements :

(1) INA trial was first initiated against Shah Nawaz, Prem Sahgal and G.S.

Dhillon.

(2) Subhash Chandra Bose was main leader of defence team.

(3) This trial was held in a secretive manner.
(4) From Congress Party Jawaharlal Nehru, Tej Bahadure Sapru and K.N.

Katju ready for defence of these INA soldiers.

Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (3) and ) only

(C) (1) and (4) only D) (2) and (3) only

frafafes Fo | fER RS ' | ' i

1) ST T e fose, P v Spw B e i um. e )
& foeg v T |

(2) GUNEE 99 IR 99 el AW % ged a3

(8) 9% HheHl @ lish q Jal T Al

(4) H09 T4 H IR A oK e B9 F = Al F au@ g TaRT W,
IS 98I WY 9 H.q. HEY @R A

T2 fgu T fowedi # @ W@ IW H FAE HINY

(A) Faa (1) 3R (2) (B) #Haa (3) ¥R (4)

(C) waa (1) 3R (4) (D) e (2) R (3)

TBC : ECP/25/B/I—B 31 PTO



40. Consider the following statements :

(1) Article 13(2) provides reservations to backward classes.

(2) Article 15(4) and 16(4) provide reservations for OBCs.

) Article 15(6) and 16(6) provide reservations to EWS of society.
(4) Article 14 provides reservation for SC & STs.

Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (2) and (3) only

(C) (3) and (4) only (D) (4) and (1) only
fFrfafen ol = fer iR .

(1) TR 13(2)ﬁ3@aﬁaﬁmmumm%lﬁ

(2) TR 15(4) T 16(4) I fuse = = omeaw wem Wy §

(8) IR 15(6) T 16(6) sifis w1 ¥ fredl M omew wem w@ §
(4) aﬁm%aﬁaaﬁawﬁaﬁmmmm%n
o fou T fodedi # R W@ W w1 g F iR .

(A) Hada (1) 3R (2) (B) %ad (2) 3k (3)

(C) Faa (3) o (4) D) 3 (4) 3R (1)
TBC : ECP/25/B/I—B 32



41. Which of the following statements about India’s inflation trends in 2024 are
correct ?
(1) CPI inflation fell to 3.66% in August 2024.
(2) Core inflation remained above 4% throughout FY 2024-25.
(3) WPI inflation turned negative in Q1 2024-26.
(4) Food inflation was the primary driver of CPI increases.
Choose the correct statements from the options given below :
(A) (1) and (4) only (B) (2) and (3) only
(C) (1) and (2) only (D) (3) and (4) only
2024 ¥ WA ® GEERTG ygied & IR freafafes § @ IR w99 @@
€2
(1) 3T 2024 ® CPI gxwifa e 3.65% & & |
(2) fag ad 2024-25 & YRA IR FREIT 4% ¥ IR @
(3) WPI qEehifd Q1 2024-25 H THReHF & T |
(4) @@ Hggrewifa CPI 3fg =1 wafes oo of |
F= feu U fawed d @ Wl s w1 g FR
(A) Faa (1) 3R (4) (B) %ad (2) 3R (3)

(C) 3aa (1) 3R (2) (D) wad (3) IR (4)
TBC : ECP/25/B/I—B 33 P.T.O.



42. Which of the following statements about India’s startup ecosystem in Hiad ave
correct ?
(1) India had over 1.17 lakh recognized startups.
(2) The Startup India Seed Fund Scheme disbursed Rs. 1,000 crore.
(3) Unicorn startups doubled in number since, 2020.
(4) The National Startup Advisory Council was dissolved in 2024.
Choose the correct statements from the options given below :
(A) (1) and (4) only (B) (2) and (3) only
(€) (D) and (2) only @) (3) and (4) only .

2024 # YR & WEAY sHGEH 3 s) § frefutee
? 2

(1) 9Ra | 1.17 o ¥ afos A= ww s §) \

(2) Eéméﬁm%ﬁﬁw%woom‘éﬁﬁaﬁa.ﬁsm
(3) 2020 ¥ FwH wlem t dew AT A W

(4) U9 WU GaRFR ufig 2024 & W w0 @ ¥

T fouw T fowed # @ W we w1 v wRy .

(A) Faa (1) 3R (4) (B) & (2) ik (g)

(C) waa (1) R (2) (D) e (3) 3R (4)

TBC : ECP/25/B/I—B 34



43. Consider the following statements : R
(1) Seil is important for life on earth.

(2) Removal of land surface by ice is known as erosi;h.
(3) Clay and loam soil is used to make pots. -
(4) Clayey soil is used to grow cotton crop.

Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (2) and (4) only
(C) (1) and (3) only (D) (1) and (4) only
frfafen wedl W R A -

(1) a1 Yot R Siaq & fau meaqol o1

(2) 9% B TN FAI H FIN TAE H g WA Heal ¢l
(3) S WS &I w1 SYERT A SN H fRar smar §

(4) Tawdt fuedl *1 S9dm w9M &1 wEa I & fag fear smn 1
o feu T fawedi § ¥ WH SW F gAE HIfSA

(A) @ad (1) 3R (2) (B) e (2) 3R (4)

(C) @ad (1) 3R (3) (D) Haa (1) R (4)

TBC : ECP/25/B/I—B 35 P.T.O.



44. Consider the following statements :

(1) A concave mirror always forms a real image.

(2) A real image cannot be obtained on a screen.

@) A concave lens always form a virtual image.

(4) White light is composed of seven colours.

Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (2) and (4) only

(C) (3) and (4) only (D) (1) and (3) only

frafafen wod = fer it

(1) sr&ae QU Wa arafeas whafss samr §)

(2) Hﬁﬁﬁ!ﬁﬁﬂﬁﬁﬁﬂ%ﬂﬁhmm|
(8) oA AW WA MR whefem s ¥

(4) Y@ YW W@ g0 @ faso ¥

o Ry T fawed A @ W@ W W e iR

(A) HFa (1) &R (2) (B) %= (2) oir (4)

(C) FFa (3) ¥R (4) (D) #aw (1) ¥k (8)
TBC : ECP/25/B/1—B 36



45. Consider the following statements :

(1) World Day of Social Justice is celebrated on February 28,

(2) World Day of Social Justice 2025 theme was “Empowering Social Protection”,

(3) World Day of Social Justice was established by UNGA in 2007.

(4) World Day of Social Justice is commemorated to combat unemployment,

social exclusion and poverty.

Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (2) and (3) only

(C) (3) and (4) only (D) (1) and (3) only

frfafen wehl w fer Fif .

(1) fava smifss =m few 28 wEd #1792

(2) fava wmfss =ma few 2025 & fowg “‘wmifses e =t 9vea’’ S9FT 41

(3) fava wmifse =g feew FwAshu g 2007 & wnfm frar mn am

(4) fova g =@ fow S, amfss afesr ok et @ fieey 3 fag
T S ¥

9 feu 7u fowed & ¥ W@ W F FE HAS

(A) ®ae (1) 3R (2) (B) waa (2) AR ()

(C) #ad (3) 3R (4) (D) & (1) 3x (3)
TBC : ECP/25/B/I—B 37 PTO.



46. Consider the fbllow'ing statements :
(1) Atacama ig a coastal desert,

(2) Rub-el-Khali, is.@ cold desert,

(3) Sahara desert annually receives more thanfﬁﬂ cm oframfall

(4) Cold deserts generally have 2-25°C annuail. tempej;ature

Choose the correct answer from the options gmw’below By ¢

(4) (2) and (4) only (B) (1) and (4) only"

(€) () and (3) only D) (2) and (3) only
frefafen s = fmr R .

(1) WHFH TF 7T T ¥

(2) FI-TA-TRA TH IMa Towe §)

(3) WeW TWeEHd # 50 At ¥ e it awt Ad ¥

(4) ¥ TEwEl F s A e 2-25° S wm
Fra feu T fawedt d A w® W W g W .

(A) ®ad (2) 3R (4) (B) Had (1) 3R (4)

() @aa (1) 3R (3) (D) %= (2) ¥R (3)

TBC : ECP/25/B/I—B 38



47. Consider the following statements regarding public. finance of Himachal
Pradesh :
(1) According to Budget Estimate for the year 2024-26, share of revenue
expenditure out of total expenditure is around 80 percent.
(2) Debt as g percentage of GSDP reached 76.33 during the year 2022-23.

(3) State’s own tax revenue as a percentage of total revenue for the year 2024-

25 (BE) increased to 27.4.
(4) During FY 2024-25 (BE) education and health sector were allocated

Rs. 9995 and Rs. 8575 crores respectively.

Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (1) and (2) only

(C) (1) and (4) only (D)« (2) and (3) only

frefafed Fai R oo ww & geatw T & R | fTER #ia .

1) 2024—25%WW$WWW@WWWSOM%|

(2) 2022-23 & @A %O GSDP 1 75.33 Wfowwa ®1

(3) 2024-25 (BE) 9% & SRIF | IR | TH 1 AYAT T ANH gl 27.4 qfwa
9% ¥ T Tl

(4) 2024-25 (BE) o & 3RM fien w6 w@ea 51 A %uw: 9995 FAS T W
8575 Hig ¥ Efed frd W T

F9 feu U fadkedi H ¥ WH IW F gAE R .

(A) Fad (1) 3 (3) (B) #aw (1) 3R (2)

(C) #ad (1) 3R (4) (D) wad (2) ¥R (3)

TBC : ECP/25/B/I—B 39 P.T.O.



48. According to PLFS 2023-24, share of sacondal‘}' and wmm Heaker I8 fotal
employment in Himachal Pradesh respectively are
(A) 25 percent and 30 percent (B) 27 percent and 30 percent
(©) 22 percent and 24 percent (D) 18 percent and 25 percent
PLFS 2023-24%W,Mma}mmﬁmﬂwm‘wﬁm
WA R .
(A) 256 vhwm wd 30 Whww (B) 27 whww & 80 FRAW
(©) 22 whww W& 24 Whww D) 18 hwW TH 25 FHRW
49. According to Census 2011, consider the following, statements regarding sex ratio
(females per 1,000 males) in Kullu d1stncthpexams In '
Statement I : Sex ratio in 2011 is lower than in 1911 .
Statement II : Sex ratio in 2011 in Kullu Dlstnct is l@Wer in Himachal.

Choose the correct option :

(A) Both Statements are correct
(B) Only Statement I is correct
(C) Only Statement II is correct

(D) Both Statements are incorrect

2011 SR # HFER FHee] o & i e (afsend wfr 1,000 Tew) @ W
4 frafafaa F9691 T faar S .

w1 : 2011 & fd U@ 1911 ¥ &9 )

HeT II :5oe] o § 2011 &1 o g e & w1 §

frefafea fased # @ ¥ s gfd ¢

(A) SF we wE & (B) faw %7 I wét %

) faw %97 II 98t ¥ (D) 3 wuT wE T §

TBC : ECP/25/B/1—B 40



. Consi
50. Consider the following statements

(1) Kibbar ;
%% 1S the largest wildlife sanctuary in Himachal Pradesh.

(2) Kheerganga National Park was established in 1894 in Himachal Pradesh.
® Tarla wildlife sanctuary of Himachal Pradesh has an area of 46.4 km?.
(4) Chail wildlife senctuary of Himachal Pradesh was establisixed in 1962.
Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (1) and (2) only

(C) (1) and (4) only D) (2) and (4) only

frafafen wadt w faear wifwd .

(1) frer formae WY # WEd o9 SeE SAWIRT ¥

o) e v di T T 199 W @

@) fearae W ® ARl TS SAVERTE aTFa 46.4 I FEll T

4) mewmawmzﬁwﬁafﬁmwm

ﬁmmmﬁ%vﬂmmwﬁm:

(A) Fad (1) Q) (B) wa@ (1) AR (2)

(C) ®ad (1) 3R (4) (D) wad (2) 3R (4)

41 P.T.O.

TBC ECP/25/B/1—B



51. Match List I with List II : "
List-I - Ldst-IT

(Scheme) . (Ministry)
(@) Atal Pension Yojana @ ‘Mini;stry of Communications
) Startup India Scheme Gi) Ministry of Finance
(¢©) Eco-NIWAS (i) ' Ministry of Commerce and Industry
(d) BharatNet (iv) . Ministry of Power

Choose the correct answer from the options given below :
@ ® © @ |
(A) @) @) Gv) G6)
@) G) G @ Go)
©) G @ - G o)
M) G) G 6@ G
g 1w g I 9 faem s

T I e 11
=) (HTE=)
(@) 3 UM de (@) TER HAE
(b) wWrsm ffem @ Gi) fom v
(c) TH-Tram (i) aiforsq wd ST A
(d) YA Gv) Y T

= g u fawedi # A WEH SW F A HND
@ ® © @

@A) G) G G @

B) G) G G G

© G) G G )

O G G G G

TBC : ECP/25/B/I—B 42



52. Which of the following ingtitutes drafted the Legal Metrology (IST) Rules, 2025 ?

(A) National Physical Laboratory v

(B) Physical Research Laboratory

(g) Cenjcral Scientific Instruments Organisation
(D) Natlor{al Institute for Interdisciplinary Science and Technology

T 3§ ; smaad.) fram 2025 #1 weie
3R o 3 5 ﬁﬁnmﬁmmmﬁw )

A) T WfF weinmemer 3

(B) Wit rqwvm warmemen 3

(C) *1a AMfr symcor wray 3

D) T sifavas fagm oin Sl deam 3
. Match List I with List II :

List-I List-1I
(Author) (Book)
(@) Mahatma Gandhi @)  The Political Future of India
(b) J.L. Nehru @) Pakistan or The Partition of India
(¢) Dr. B.R. Ambedkar @) Whither India
(d) Lala Lajpat Rai (iv) Guide to London
Choose the correct answer from the options given below :
@ Bk @© @
(A) @) Gu) G) G6)
B) @) @) G @)
C) @) D) Gv) @)
M) @) i) G Gv)
Tt I % gEt 11 9 faem il .
et 1 e 11
(Y&h) ()
(@) WeeA Tivedt @) TR dfafera H=R w fen
(B) ITA T’TE® @) wfewm R & weiwm sifw e
) T AR TESH Gii) fax 3femn
(d) e asYd T4 (iv) TS T WA
F9 feu MU famedl H A WEH IW H A Hio
@ B @ (@)
Q) Go) Gip) @) @)
B) Guv) Gi) G) @)
(C) Gi) Gu) Gv) @
M) Gi) Gi) @ Gv)

TBC : ECP/25/B/I—B
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54. Match the Tribal Leaders with their respeﬁ.t:i“' region.
List-I - Ldstll
(Tribal Leader) (Region)
@ UTirot Sing G) Odisha
®) Thalakkal Chandu () Andhra
@©  Alluri Sitaram Raju () Kerala
@) Chakra Bisoi (lv) Meghalaya

Choose the correct answer from the ,gpeiqﬁé: given below :
@ @& @ (@

@ @ © @) G
®) @ GE) 6 o)
© & @ G G
O G @ G 6 -

T I
(nfamft ) (&
(@ Il fam @ :
(b) USRS oY () oFg
(€) STl HaRm TS (i) @
(d) = TouE (v) W=TEg

T T T fomedt § @ W s oW g w9 .
(@ ) @ @)
(A) Gi) @) G Go)
B) @) Gi) G) (o)
C) @ @) G Go)
D) Gv) G Gi) G

TBC : ECP/25/B/I—B 44



55. In which cage Su
cannot be consid

(A) Bijoe Emm

Preme Court decided that not sinﬂiﬂg °f National Anthem
ered its disrespect or offence ?

anuel cgge (B) Braj Bhushan me
(C) Maneks Gandhi cage D) M.C. Mittal casew
T A Y fg &) T TN TaH TR
T AT T 3 %y § g frola Ren fis asgnm
(A)W%W%a B) w9 FF
(C) A= wie Ee) D) . firs ‘G‘H
56. Match List ] with List IT .
List-I List-II
(Place) (Industry)
(@) Phagwara G)  Silk Textile Industry
®) Gokak (i) Woollen Textile Industry
() Kullu @ii) Sugar Industry
(d) Mandya

(v) Cotton Textile Industry
Choose the correct answer from the options given below :
@ ®) @ @

A @ G Gi) Go)
B) Gv) G) 6 i)
C) Gv) G) Gid) @)
M @ & G Gi)
T 1 F T I Frem SR

gt I e IO

(FrTY) ()
(@) wETST () Wt T SEm
(b) TR () S T =M
(c) e (i) = e
d) e (iv) WA T s=Em

T g T fawed § ¥ @@ W w TR FE .
(@ (b)) @ @
(A) G) G) Gi) @)
(B) Gv) G) 6 @)
C) Guv) G G @
D) Gv) G G) ) !
TBC : ECP/25/B/I—B 45 B



57. Match List I with List II :

List-I List-I1
(Range) (Peak)
@ The Aravalli Range () Gali Konda
) The Satpura Range () Guru Shikhar
(€) The Western Ghats (i) Kalsubai
(d) The Eastern Ghats (v) Dhupgarh
Choose the correct answer from the options given below :
@ @ @ @@
A) @) Gv) G G)
B) @) @) 6@ )
€ @ @ G G
@ @ @ G G
T I w1 gE O R frem iR .
1 et 10
(0t a1 Sfarem) (=)
(@) STEel it @) el i
(b) TAYgST SAvit @) T fmeR
(c) df¥=Hl =R (i) HIeTges
(@) gt =R (v) YwTG
e U T fawed d @ wd W oW e R .
(@ G () @
(A) @) Gv) Gi) @6)
B) G) i) G) Gv)
C) @ G  Gi) Gv)
D) @) G Gv) i)

TBC : ECP/25/B/I—B
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58. Match List I wiy, List II .

G
List-] List-II
(Social Reformers) (Organisation).
@ Raja Ram Mohan Roy ()  Satya Shodhpk Samaj
(b) Swami Dayananda (i5) RamakﬂgijjSSion
(© Swami Vivekananda (i) Brahmo Samgj

(d) Jyotiba Phule

(v) Arya Samaj. .,

Choose the correct answer from the options given below :

@ ® ©
@ @ @ G G
B) @) Gv) G) @)
© @) G G G
M) @) @ G G
et 1w gE I 9 faram #ifd
Tl 1 gt I
(TETST Q) )
() TN THERA T4 @) uE NuF TS
(b) T T Gi) e fre
(c) @ faaare (i) & W
(d) vl G (o) o TS
ﬁmmﬁﬁﬁﬁﬁﬂﬁwmwm:
@ ® © @
A) G @) @) (iii)
B) Gi) Gv) @) @
C) @) @) O (iii)
D) Gv 6 @) (iiL)

TBC : ECP/25/B/I—B

47 P.T.O.



59. Match List I with List II :
List-I List-11

(Constitutional (Reservations for SC & STs)
Amendments)
(@) T77th Amendment () “Consequential Seniority in
Reservation
(b) 81st Amendment (ii) Reservations in Promotion
() 82nd Amendment (iii) Relexation in Qualifying marks
(d) 85th Amendment (lv) Carry forward unfulfilled

vacancies of SC & STs

Choose the correct answer from the options given below :

@ B @ @@
A G) Gv Gi) 6
B @ G Gi) Gv)
C) G Gv) G G
M) G) G Gv) G)

T I g IO ¥ frem wifed .

e 1 gt I

(et doiters) - (erqgfem wnfe & oonfe 3nRaton)
(@) 7780 WA () omygw ¥ ‘‘wfomh afee
(b) 81al GeEA N _‘ () wSfa | IRem
() 823l Wi i) A ot #
(d) s8saf wEm (iv) oAggfea wifa 8 smonfa e & AN
M TR @

= Ru T o & @ W@l SR w1 e wiR
(@ ) @ @
(A) G (@Guv) GG @)
B @ @ i) Gu)
(C) Gi) Gv)y G) GiD)
D) @) @) Guv) @)
TBC : ECP/25/B/1—B 48



60.

List-1

Match the following economic policies with their launch years :

List-11
(@) PM-KISAN () 2016
(b)  Ayushman Bharat Gi) 2019
(¢) Startup India (i) 2018
(d) Gati Shakt; (v) 2021
Choose the correct answer from the options given below :
@ @) @ @
(A @) G 6 o)
B) @ Gv) Gi) GD)
C) Gi) G) Gv) @G
M @) @ G i)
frafafea snfdes il &1 o7 yRy =df 4 fiem w9 .
e 1 et I
(a) ea-foram W
(b) YA 9RA @) . 2019
(c) wWRsW Efeam (i) 2018
d) Tfa wifE (i;;) 2021

9 R T fed § A W SR W T HR

(@) (B)

(A) @) @)

(B) & (v)

(C) (i) (i)

D) Gv) @)
TBC : ECP/25/B/I—B

(c)
@
(ii)
(iv)
(i5)

(d)
(iv)
(73]
@
(iid)

49 P.T.O.



\ FY 2024-2
61. Match the following inflation metrics with their values for 0 (ADl‘il.
December) :

List.l List-11
(@) CPI Inflation (%) W 21
®) Food Inflation (%) @ 84
(¢) Core Inflation (%) (i) 6.4
(d) WPl Inflation (%) (lv) 8.6

Choose the corvect answer from the options given below
@ ® © @

A @ G O G
@ @ v G G
© @ @ G 6
M @ @ G i) |
Fam = 2024-25 (d@-Rega) @ e
e FifRmd

T I et 10
@ e Ry (%) @ 2.1
®) =& ERET (%) () 8.4
) =R TEHR (%) (i) 5.4

@) ssqdieng wErewifa (%) (iv) 3.5

ﬁ%ﬁnwﬁmﬁﬁﬁuﬁwwwﬁm:
@ ®) @©

A G G G (Gv)

B) @  Gv) Gi) G)

©) G G) Gv) )

D G & G) Gi)

TBC : ECP/25/B/1—B 50



62. Match Ligt I with List 11

I List.] List-11
. (ICFRE Centre) (Place)
a) IWST
o () Hyderabad
. (ii) Jorhat
c R
(iii) Bengaluru
(d) RFR]

o (iv) Ranchi
Noose the correct answer from the options given below :
@ ® © @

B @ G 6 )
B) O G @) @)
© @ 6O @ G
@ @) G 6 G
I F g IR frem A

Tl 1 il

(A TwIawE, *) (T

@ WTE@E () kR
(b) METEH. (i) @R
() WETEIR (i) TR
(d) 3TR.TF.3.3TE. (iv) TR

i fog el # @ W R T A
(@ B) © (@
(A) i) (v @) Gw
B) ) () (o) (i)
(C) Gu ) () W)
D) Gu) Gv) @ @
TBC : ECP/25/B/I--B b1

P.T.0.



63. Match List I with List II :
List-1

(Indian Breed of Sheep)

(@) Patanwadi
() Bakharwal

List-II

(State where found)
() Rajasthan |
(i) Jammu & Kashmir

() Rampur Bushair (tif) Gujarat

(d) Lohi

(y) Himachal Pradesh

Choose the correct answer from the options given below :

@ )
@@ @
®B) @) @
©) Gi) @)
D) @) Gv)

(e)

(v)
(i)
()
(7))

(d)
(iid)
(i)
@)
@)

I w g O 8 frem =ity .
TR I
(g = k. ) (e it wd R )

(a) UGS

(b) rEE

() THI YRR
(d) o

G) TSRIH

(i) 9 R HYER
(ifi) TERE

(i?) feraa wew

KT T e § v sw W T i

(@ ()

(¢) @  G)

(B) @) @)

(C) @) (i)

D) i) (o)
TBC : ECP/25/B/I—B

(c)

(i)
(iv)
(iv)
(i1)

(d)
(219)
(i0)
)
@)
52



64. Match List I with List II :

List-1 List-11
(Function) (Part of digestive canal)
(@)  Absorption of food (i) Stomach
®) Killing of bacteria (i) Large intestine
(©)  Chewing of food (i) Samll intestine
(d) Formation of faeces (lv) Buccal cavity

Choose the correct answer from the options given below :

@ & © @

(A) @) @) (o) Gi)
B) @) G G Gv)
©) Gi)) Gv) G) G)
M) @i G) G)  Gv)
T I w e I Y faem wifed
e I qeir 11
(feram) (AMER ST /T W)
(@ T A9ISH H AFNE (@) I
(b) STy TR HTW @) TR
(c) WA ® FamF (i) 5=
(d) 9 &1 i (v) @ Tfew

T feu T fawedi # ¥ W@ W W T FR

(A)
(B)
(C)
(D)

(@ ) @
) @  Gv) @)
@ ) @) Go)
() ) @) G

) @ @@ (o)

TBC : ECP/25/B/I—B 53

P.T.O.



65.

List-I List-11
(Day) (Date)
@)  Jan Aushadhi Diwas & April 18
®) World Sparrow Day () March 20
©) Pi Day (ii5) March 07
(d) World Heritage Day (lv) March 14
Choose the correct answer from the options given below :
@ & © @
A @) @ G @
B @) Gid) Gv) 6
©) G Gv) 6@ G
M) G @ Gv)  Gi)
I gRIAREm R .
et I © o gEr I
(R==) (fofe)
(@) SA Awfy fgaw @ 0= 18
(b) fava Wit feaw @) W€ 20
() 9§ 2 (Gi) W€ 07
d) fova we o= (iv) W 14
a9 e T fawedi § @ 9@ S| F e BN
@ b ©© @@
(A) Gi) @) Gv) 6
B) Gi) @) ) G)
©) Gi) Gv) 6 G
D) Gi)) @& Gv) @)

TBC : ECP/25/B/I—B

Match Ligt | with List II :

54



66. Match List | with List II :

List.I

List-11

(Name of Peak) (Country)

@ Mt Whitney () Canada
() Mt. Logan ) USA,

(c) Ben Nevis

(d) Mont Blanc

Choose the correct answer from the options given below :

(@ )
(A @) @)
B) @ @)
© & @)
D) @ @)

(©

(iv)
(v)
@)

(0779)

(iii) France
(lv) Scotland

(@)

(¢id)
(iid)
(i)
(v)

gt I gEt I @ e =i

qet 1

(IS /T W)

(@) e faet
(b) HHE AR
(c) = Af™

(d) ArZ =

¥t 11

()
G) e
() JTEL
(iii) ¥
(iv) hleAS

9 feg T fwed § A WR IW W T RO

@ )

@A) @ O

B) @ @)

© O G

O O 6@
TBC : ECP/25/B/1—B

()

(iv)
(iv)
(i)

(1))

(d)
(iid)
(iid)
(iv)
(iv)
55

P.T.O.



87. Who was the politician and social worker popularly called “Sindhi Gandhy» ;

the Sindh region, and was elected to the 1st legis];m éései;lbly of part !
state of Himachal Pradesh (1982-58) ?

(A) Krishna Nand Swami

(B) Pt. Padam Dev

(C) Gauri Parsad

D) Piru Ram ‘

o @RI T ® T T R

= = T T T e v“"}‘??f'; B et furEw (1952-56) 3 frw of 9 ™

g ?

(A) F1 F< Tt

(B) ufved wgw 2

(C) M war

(D) 9E TN

TBC : ECP/26/B/1—B 66



TBC : ECP/25/B/I—B

68. Match List I with List II .

List-I Llst-ﬁ  ’
(Code) (Distriet) |
(@) Highest Rainfall (2018 Data) () Shimla
() Second Most Incidents |
Reported (2024 Crime Data) (i) Mandi
(©)  Fourth Highest Population

(2011 Census) (i) Kangra
(d) Fourth Largest Area (iv) Solan

Choose the correct answer from the options given below :

@ G © @
A) @) @G 6 Gv)
B & G @) @)
©) @) @) G 6
D) @) @ @) )
gt 1@ g I @ frem #ifd

et 1 et 11
(W) - (foem

(@) TR sifgs awi (2018 @) () Fowem
(b) TEd TR e et o
#F T (2024 WY BA) () T
(¢) Heft gad sAfysw SAEE
(2011 I STTOMAT) (iii) T
(d) < T a1 & Gv) WA
ﬁmmﬁﬂﬁﬁﬂﬁmmwaﬁm:
@ ) @ @
A) G @) @ ()
B) @) (v G (in),
@) Gi) @) @) @)
D) G G @ (ue2)
57

PTO.



69.  Match List I with List II :

List-I List-Ik
(Scheme) (Starting Year)
(@)  Mukhya Mantri Roshni G 2015
Yojana

(b) Himachal Pradesh Horticulture (i) 2019
Development Project

(¢)  Mukhya Mantri Gram Path (i) 2009
Yojana

(d) Swavalamban Yojana (iv) 2020

Choose the correct answer from the options given below :

@ ) @ @
(A @) Gi) G Gv)
B) @ Gv) Gi) G)
C) G G Gv) @)
M G @ G Gi)
T I W g I ¥ e iR .

Tl 1 [ 10
(Srerm) (IR =)
(@) & Wit Avrt A (@) 2015
®) fear=@ W@ e B (i) 2019
RECISE

() 9= Wit am vy e (iii) 2009
(d) @EEad I (iv) 2020
T R e fomredi § A W S W T RRR
(@) b)) ) (@
(A) @) @) @) Go)
M) @ @) @) G)
(C) Ge) @) Gv) @)
M) Gv) @) G (i)

TBC : ECP/25/B/1—B 58



70. Match List I with List 17 .

List.I List-11
(Wildlife Sanctuary) (District)
(@) Kias @ Kullu
®) Tarla @) Shimla
(©) Tundah i) Chamba
(d) Bandli (iv) Mandi

Choose the correct answer from the options given below ©.
@ ® © @
A @ @ G G
B) @G @ @ )
©C) @) @) @ @)
D) @ GG @ 6
T 1w g I e E

Tt 1 T o

(Fasia WARTY) o (Rem)
(a) =™ e T
(b) TR Gi) e
) T/ (i) ==
(d) et (v) W&

F9 feu MU fawed # A W SW F gAE HISA
@ G @ @
A) @) @) @) (o)
B) @) Gv) @ @)
(C) Gu) (v @ @)
D) Gv) Gi) @) )
TBC : ECP/25/B/I—B 59 PTO.



71. Where was the 7th meeting of the National Board for Wi;dl{fe was held ?
(A) Gir National Park '(B) Kanha National Park
(C) Wildlife Institute of India (D) Corbett National Park
T Sefis O # 7 dow wel omdfew @ w2

A) R g wom # (B) ¥ T A #

(C) W S=sie SegM 3 D) Wk vdg sam

72. Which of the following is not a constituent body of National Statistics

Office ?

(A) Central Statistical Office

(B) Data Informatics and Innovation Division

(C) Indian Statistical Institute

(D) National Sample Survey Office
mﬁﬂmmmmm‘mﬁmﬁ% ?
(A) *3a diferst s

(B) 3 Yo fomm M T@ER wum

(C) v wiferR de

(D) T giaed wAww wHEied
TBC : ECP/25/B/I—B 60



l
i

. Who said these words on the death of Mahatma Gandhi ~ “We have learned

74.

our lesson at a very high price. Is there anyone among us Who would refuse
Yo carry on Gandhi’s mission after his death. Hindustaﬁis have to unite and
fight against that terrible poison of oommunaﬁsm, which has taken away from
us the greatest man of our times”.

(A) J.L. Nehru " (B) Vallabhbhai Patel

(C) Madan Mohan Malaviya (D) Sarojini Naidu

TR el ® e W A v e R - e aga @ de
| ¥ T A wE ¥ S e g @ e e R W o e
¥ TR HUT | rgwIFRl B T G 39 WK @ WEE TR $ faa aer
TSN B, O TR g1 B wed WM S9M @ N9 9N faa &)

(A) A@ Fe® (B) HeeIWWE vt

(C) TEA Hied HierEE (D) wAfst g
Marble Falls pertain to :

(A) The Narmada system (B) The Tapi system
(C) The Krishna system (D) The Kaveri system
ueiel wied #1 Hey frafafen § @ el & 2

(A) e yore | (B) drdt yoneht @

(C) Feom yomedt | (D) FG yorett

TBC : ECP/25/B/1—B 61 P.T.O.



75. Baghelkhand region is located to the east of :
Range
(A) The Malwa Plateau (B) The Maikal Rang

| teau
(C) The Chota Nagpur Plateau (D) The Telangana v
ToEE & e A D e A e § 7

(A) Wem R @ @) HFe ovft @
(C) B TR WR H D) YT YR B
76. Who decides the disqualification of members of State Legislative Assembly, for
matters other than those in the Tenth Schedule of the Constitution ?
(A) Governor of the State (B) State High Court
(C) Speaker, Legislative Assembly (D) State Election Commission
R 3 o S W e o faw W T e @ W 9 s
MM X = Fols B ww@w )
(A) T8 F1 T (B) T =0 UEEH
(C) ey, fqurmw (D) T JAE S
1.

What is the objective of ‘Cut Motion’ in the Parliament ?

(A) To restrict day-to-day financial expenditure of Government

(B) To restrict grants of the Government

(C) To move a proposal to reduce expenditure in budget proposals

(D) To restrict grants from consolidated fund of India
e 4w R W R Ry W 2

(A) "R & f-yfafa & fodia w=l W J% o
(B) &R & IFEH W Uk AT

(C) o J&mEl & 'l H &l 0 & T

(D) wrd ®t |faa ffy & SRA | A oy

TBC : ECP/25/B/I—B 62



78. Which of the fo]lowing best explains the “I'win Balance Sheeét” problem in the
Indian economy 9

(A) High fisca] deficit and current account defieit

High NPAs and low capital buffer in NBFCs
(C) Stressed balance sheets of banks and over-leveraged corporates
(D) Bad loans in agriculture and MSME sector
Pt & 2 B s swdereean e 4¢f e T B T o
¥ T ¥ 2
(A) 3= TR W ik s @ S
B) TEER § v wiiy ok w4 T |
D) FM 3N wweE & # wow =W
79. Which of the following can cause “Stagflation” ?

(B)

(A) Rapid increase in aggregate'demand

(B) Sudden supply shock like rise in oil prices

(C) Expansionary fiscal policy

(D) Appreciation of the domestic currency

frefafed 4 @ a7 “gEeeifa’ w1 R0 5 ww@ § 2
(A) & = § &t § Ff

(B) 3= SMYfd Feh S A Ft Fwd F qfg

(C) fawaramet Temprsta Hifa

(D) R qI I Gl
TBC : ECP/25/B/I—B 63 P.T.O.



80. Which of the following Indian States emerged number one in NITL Aayog’s

Fiscal Health Index 2025 ?
(A) Tamil Nadu (B) Himachal Pradesh
(©) Goa (D) Odisha

T smim * o e guwtn 2025 # Freafafen ardg oo F & S
T 98 ™H | ¥ ?
(A) dferrg (B) femra WRW
(C) & D) shfswm
81. Which of the following best explains “Operation Twist” by RBI ?
(A) It increases CRR while decreasing SLR
(B) It simultaneously buys long-term and sells short-term government securities
(C) 1t raises repo rate but reduces reverse repo
(D) It involves swapping forex reserves for rupee bonds

frafafes § ¥ 9 RBI gr * SifoRe foe’’ # gad o=ft wE § gugE 2

(A) a8 SLR %! %9 % g CRR # wgmn
(B) € T& Wiy e 3R STeqeniiae Wil wfafidl w wdea ok A= ®
(C) 9% W R o ¢ Afed fad W N F59 ww ¥

(D) 398 *9A Sie & fau fael 90 WeR Y seer-seet wite ¥

TBC : ECP/25/B/I—B 64



9. Which . s k
8 of the following cities of India is a wetland accredited city under the
Ramsar Convention ?
(A) Indore (B) Bhopal

(C) Bengalury (D) Imphal

(A) R
(C) Sge
83. When was the National Centre for Disaster Management, e:
India ? i
(A) 2005 (B) 1975
(C) 1995 (D) 1985

URd H U U Yo g @l TAOA Fd g8 2
(A) 2005 (B) 1975
(C) 1995 (D) 1985
84. A tadpole develops into an adult frog by the process of :
(A) Fertilisation (B) Metamorphosis
(C) Embedding (D) Budding
wF e | wHA gN g H fasfaa @@ ®, 9% w0 Feemar § 2

(A) fAo=H (B) ShTIIQXOl
(C) 9w (D) YheH
TBC : ECP/25/B/I—B 65

P.T.O.



85. What was the theme of 8th Indiah Ocean Conference held at Muscat,

Oman ?

(A) Maritime security and counterterrorism
(B) Maritime security threats
(C) Economic Lifeline and Trade
(D) Voyage to New Horizons of maritime partnership
A D wewe ¥ AT 83 ik werrR weR @ fawa W oA ?
(A) N WA AR AGHAT F qHEA
(B) Wt g 'm
(C) 3ufdis Shev-Yan iR =mR
D) T Rk & -u fafast Y aen

86. Cocos plate is located between :
(A) Central America and Pacific plate
(B) Asiatic and Pacific plate
(C) South America and Pacific plate
(D) Phillippine and Indian plate
FpE e Frafafen #§ & frad wa fem @ 2
(A) AT STRftR o W FHEErRE W % A
(B) TR 9 WK FEETRIA W F WA
(C) Tfevlt st @ YT WEREITIE @ F A
(D) fefafra & e e & 7

TBC : ECP/25/B/I—B 66



87- Who prepar 4 4 ‘ ¥ ‘y
: X ed the Report of the Land Revenue settlement of the Kangra District,
printed in 1874 5

(B) G.C. Barnes
)

(D) Victor Jacgimo,

A CU R ——y R e L LE
(A) S IR ®) o o

©) V3. =fymy D) Foee $fs

Who among the following was not the Vice-President of the Himalayan Hill
States Sub-regional Council ? Sl

J.D. Cunningham

88.

(A) Tej Singh Nidhadak (B) Leela,Das Verma _
(C) Sadaram Chandel

Shivanand Ramaul

"Yf‘::iz,:_,_?;_';’; 5l 39-949H1 qﬁ

89. From which constituency Dr. Yashwant Singh Parmar was elected to represent

in (1952-56) Himachal Assembly ?

(A) Rajgarh (B) Pachhad

(C) Renuka (D) Nahan

=f wvrEd fie TR femree faum@d (1952-56) § AFQ Y@ 4% 4 T T

g 7

TBC ECP/25/B/1—B 67 P.T.O.



90. Mountain Soil Zone in Himachal Pradesh is found between :

(A) 3000-6000 m (B) 1500-3000 m
(C) 1000-1500 m (D) 900-1000 m

fore e & v R = & o o €

(A) 3000-6000 HrX ® wey (B) 1600-3000 =X & wex
(C) 1000-1500 W H wwy (D) 900-1000 *rex & Hey

91. Given below are two statements :
Statement I : The Spices Board of India’s headquarters is located at Kochi.
Statement II : India produces 75 out of 109 spice varieties listed by the
International Organisation for Standardization.
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement IT are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
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India is the second largest arms impmef after Ukraine
during 2020-24, as per the Stockholm International Peace
Research Institute report.

India has developed two defence industrial corridors in Uttar
Pradesh and Tamil Nadu to boost the defence manufacturing.
In the light of the above statements, choose the most appropriate answer from

the options given below :

Statement 1 .

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are ‘incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is imrrect
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9. Given below are two statements :
Statement I: The revolt of 1857 in Lucknow started on 30th May, 1857,
Statement I1 : The revolt of 1857 in Kanpur started on 28th June, 1857

In the light of the above statements, choose the most appropriate answer fr,
the options given below :

(A) Both Statement I and Statement II are corvect

(B) Both Statement I and Statement II are iﬂ?ﬁ?ﬂ@t'

(C) Statement I is correct and Statement IL is meon'ect

(D) Statement I is incorrect and Statementﬂ iS correct
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Statem . | |
®R T : Mukund Rao Patil started publishing the mouthpiece of

Satyashodak Samaj, ‘Dinmitra’ from 1910.
Natal Indian Congress was established in 1896. At that time
Mahatma Gandhi was made its President.

In the light of the above statements, choose the most appropriate answer from

the options given below :

Statement |j .

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are imeorrect

(C) Statement I is correct and Statement II is incorreet

(D) Statement I is incorrect and Statement II is, correet.
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95. Given below are two statements :

Statement I : Dr. B.R. Ambedkar was not associated with “Independent Labour
Party” in India. |
Statement II : Kanshi Ram was associvated with the “Scheduled Castes

Federation” in India.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II iare correct

(B) Both Statement I and Statement II. are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
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96. Given below are two statements :

Statement 1 : In the Intorim Government of 1946, Jawaharlal Nehru was
Prime Minister and Head of the Executive Council of Viceroy.

Statement 17 . Rajni Kothari observed that “It is not politics that gets caste
ridden, it is caste that gets politicised”.

In the light of the above statements, choose the most approplfiﬂf& answer from

the options given below : | ,

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorreet

(D) Statement I is incorrect and Statement II is co: «i»;]gﬁ
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97. Given below are two statements :

Statement I : The Production Linked Incentive (PLI) scheme covers 14
sectors, with a total outlay of Rs. 1.97 lakh crore.

Statement II : The PLI scheme has achieved 100% of its targeted investment
in the electronics sector by FY 2024-25.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
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98. Given below are two statements :

aims to raise
Statement I : The National Monetisation Pipeline (NMF)

Rs. 6 lakh crore by FY 2024-265.
' the education
Statement 17 . The NMP includes monetisation of assets in

sector.

riate answer from
In the light of the above statements, choose the most approp

the options given below -

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
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99. Read the following statements :

Statement I : Apart from issuing currency notes, RBI regulates all
commercial banks in India,
Statement II : Regulating NBFCs are not under the purview of RBL

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I a;nd Statement, IT are ﬁbnnect

(C) Statement I is correct and State,,ef. II is incorrect |
(D) Statement I is incorrect and Sbatéent 1 is ’correclt
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400- Read the following Statement,
s

Stat .
°Ment I : Share of agriculture in total GSDP of Himachal Pradesh has

. 1 f AR T/
declined from about 75 percent in 1950-51 to little above 20

Percent in 2023-24.

Statement IT ; A Per economic survey 2024-25 of the state, however, in berns

of employment still 54 percent of the state population is
engaged in primary sector.
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statemient II is ineorrect
(D) Statement I is incorrect and Statement II is correct
freafafea o &1 ufgw |
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